Q2 (a) If y =  $e^{ax}$ . sin bx, then prove that  $y_2 - 2ay_1 + (a^2 + b^2)y = 0$ .

## Answer

Solution:  
8.2.a. given eqn. is 
$$y = e^{a\chi}$$
  
hifferentiating the above eqn. w.r.t. n. we get  
 $y_1 = e^{a\chi}$ .  $(cosbn + b sinbn \cdot a e^{a\chi})$   
 $y_1 = (b cosbn + a sin bn) e^{a\chi}$  (f)  
 $y_1 = (b cosbn + a sin bn) e^{a\chi}$  (g)  
 $y_1 = (b cosbn + a sin bn) a e^{a\chi} e^{a\chi} (b (-b sin bn) + a b cosbn))$   
 $y_2 = e^{a\chi} (ab cosb\chi + a^2 sin b\chi - b^2 sin b\chi + ab e osbn)$   
 $y_2 = (2ab cosb\chi + (a^2 - b^2) \cdot sin b\chi) e^{a\chi}$  (f) 2  
Substituting the values of  $y_1, y_2$  and  $y$  in the AHS we get  
 $a + (a^2 + b^2) e^{a\chi}$ . Sin by  $2 - 2a (b cosbn + a sin bn)e^{a\chi}$   
 $+ (a^2 + b^2) sin b\chi = 0$   
 $\Rightarrow e^{a\chi} [a^2 - b^2 - 2a^2 + a^2 + b^2] sin b\chi = 0$   
 $\Rightarrow e^{a\chi} [a^2 - b^2 - 2a^2 + a^2 + b^2] sin b\chi = 0$   
 $\Rightarrow e^{a\chi} [a^2 - b^2 - 2a^2 + a^2 + b^2] sin b\chi = 0$   
 $\Rightarrow e^{a\chi} [a^2 - b^2 - 2a^2 + a^2 + b^2] sin b\chi = 0$   
 $\Rightarrow e^{a\chi} [a^2 - b^2 - 2a^2 + a^2 + b^2] sin b\chi = 0$ 

Q2 (b) Find the equation of the tangent to the curve  $y^2 = 3 - 5x$  parallel to the lines 5x - 4y + 13 = 0

Answer

2. b. Bren eqn: 
$$\dot{b}$$
  $\dot{\gamma}^2 = 3-5\times$   
Differentiating the eqn: of the above curve, w.r.t.x,  
we get,  $2\dot{\gamma} \frac{dy}{dy} = 0-5$   
 $\therefore \frac{dy}{dw} = -\frac{5}{2\dot{\gamma}}$   
Since the tangent is parallel to the line  $5x - 4\dot{\gamma} + 13=0$   
slope of the tangent and the line one equal.  
Hence Slope of the tangent  $=\frac{5}{4}$   
 $\therefore -\frac{5}{2\dot{\gamma}} = \frac{5}{4}$  is  $2\dot{\gamma} = -4$ , is  $\dot{\gamma} = -2$   
Subscribting  $\dot{\gamma} = -2$  in  $\dot{\gamma}^2 = 3-5x$ , we obtain  $(-2)=3-5x$   
 $5x = -1$  or  $x = -\frac{1}{5}$   
Hence  $(-\frac{1}{5}, -2)$  is a point on the line whole the  
tangent is promised to the given line.  
Required eqn. of the tangent is  
 $\dot{\gamma} = (-2) = -\frac{5}{4} [x - (-\frac{1}{5})]$   
that  $\ddot{b}$ ,  $5x - 4\dot{\gamma} - 7 = 0$  Ang

Q3 (a) Evaluate  $\int e^{2x} . \sin 3x dx$ 

1.1

Answer

ENGINEERING MATHEMATICS-I JUNE 2014

b. We have, 
$$I = \int \frac{5x^2}{x^2 + 4x + 3} dx$$
  

$$\Rightarrow I = 5 \int_{1}^{2} \frac{x^2}{x^2 + 4x + 3} dx + 5 \int_{1}^{2} (1 - \frac{4x + 3}{x^2 + 4x + 3}) dx 2$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 5 \int_{1}^{2} \frac{4x + 3}{x^2 + 4x + 3} dx$$

$$= 5 \int_{1}^{2} 1 \cdot dx - 5 \int_{1}^{2} \frac{2(2x + 4) - 5}{x^2 + 4x + 3} dx$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 5 \left[\int_{1}^{2} \frac{2(2x + 4)}{x^2 + 4x + 3} - \frac{5}{x^2 + 4x + 3}\right] dx$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 10 \int_{1}^{2} \frac{2x + 4}{x^2 + 4x + 3} dx + 25 \int_{1}^{2} \frac{1}{(x + 2)^2 - (1)^2} dx 2$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 10 \int_{1}^{2} \frac{2x + 4}{x^2 + 4x + 3} dx + 25 \int_{1}^{2} \frac{1}{(x + 2)^2 - (1)^2} dx 2$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 10 \int_{1}^{2} \frac{2x + 4}{x^2 + 4x + 3} dx + 25 \int_{1}^{2} \frac{1}{(x + 2)^2 - (1)^2} dx 2$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 10 \int_{1}^{2} \frac{2x + 4}{x^2 + 4x + 3} dx + 25 \int_{1}^{2} \frac{1}{(x + 2)^2 - (1)^2} dx 2$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 10 \int_{1}^{2} \frac{2x + 4}{x^2 + 4x + 3} dx + 25 \int_{1}^{2} \frac{1}{(x + 2)^2 - (1)^2} dx 2$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 10 \int_{1}^{2} \frac{2x + 4}{x^2 + 4x + 3} dx + 25 \int_{1}^{2} \frac{1}{(x + 2)^2 - (1)^2} dx 2$$

$$\Rightarrow I = 5 \int_{1}^{2} 1 \cdot dx - 10 \int_{1}^{2} \frac{2x + 4}{x^2 + 4x + 3} dx + 25 \int_{1}^{2} \frac{1}{(x + 2)^2 - (1)^2} dx 2$$

$$\Rightarrow I = 5 \int_{1}^{2} - 10 \int_{1}^{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} (\log(x^2 + 4x + 3)) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + 25 \cdot \frac{1}{2} \log(x^2 + 4x + 3) \int_{1}^{2} + \frac{1}{2} \log(x^2 + 4x + 3) \int_$$

Q4 (a) Let  $A = \begin{bmatrix} 2 & -1 \\ 3 & 4 \end{bmatrix}, B = \begin{bmatrix} 5 & 2 \\ 7 & 4 \end{bmatrix}, C = \begin{bmatrix} 2 & 5 \\ 3 & 8 \end{bmatrix}$  find a matrix D such that CD - AB = 0

11

Q4 (b) Using Cramer's rule, solve the following system of liner equations,

(a + b) x - (a - b) y = 4ab(a - b) x + (a + b) y = 2 (a<sup>2</sup> - b<sup>2</sup>)

b. We have,  

$$D = \begin{bmatrix} a+b & -(a-b) \\ a-b & a+b \end{bmatrix} = (a+b)^{2} + (a-b)^{2} = 2(a^{2}+b^{2}) \neq 0$$
So, the given system of eqn. from a unique solution 2  
Now,  

$$D_{1} \begin{bmatrix} 4ab & -(a-b) \\ 2(a^{2}+b^{2} & (a+b) \end{bmatrix}$$

$$\implies D_{1} = 2(a+b) \begin{bmatrix} 2ab - (a-b) \\ a-b & 1 \end{bmatrix} \begin{bmatrix} 7ating 2(animos) form (c, a-b) \\ and & (a+b) & from & R_{2} \end{bmatrix}$$

$$\implies D_{1} = 2(a+b) \begin{bmatrix} 2ab + (a-b)^{2}g \\ and & D_{2} = \begin{bmatrix} a+b \\ a-b \end{bmatrix} \begin{bmatrix} 2ab + (a-b)^{2}g \\ 2ab + (a-b)^{2}g \end{bmatrix}$$

$$\implies D_{1} = 2(a+b) \begin{bmatrix} a+b & 2ab \\ 1 & (a+b) \end{bmatrix} \begin{bmatrix} 7ating (a-b) & common \\ from & R_{2} \end{bmatrix}$$

$$\implies D_{2} = 2(a+b) \begin{bmatrix} a+b & 2ab \\ 1 & (a+b) \end{bmatrix} \begin{bmatrix} 7ating (a-b) & common \\ from & R_{2} & and \\ 2n \end{bmatrix}$$

$$\implies D_{2} = 2(a-b) \begin{bmatrix} (a+b)^{2} - 2ab \end{bmatrix} = 2(a-b) (a^{2}+b^{2}) 2$$

$$\implies D_{2} = 2(a-b) \begin{bmatrix} (a+b)^{2} - 2ab \end{bmatrix} = 2(a-b) (a^{2}+b^{2}) 2$$

$$p_{1} & (rained') & rule, we have, \\ N(= \frac{D_{1}}{D} = \frac{2(a+b)(a^{2}+b^{2})}{2(a^{2}+b^{2})} = (a+b) \int pnl n$$

Q5 (a) Solve the differential equation (x + y) dy + (x - y) dx = 0 given that

y = 1 when x = 1

R.S.a. The filter with eqn: is  

$$(x+y)dy + (x-y)dx = 0$$

$$\Rightarrow \frac{dy}{dx} = -\frac{x-y}{x+y}$$

$$\Rightarrow \frac{dx}{dx} = \frac{y-x}{x+y}$$

$$\Rightarrow \frac{dx}{dx} = -\frac{y}{dx}$$

$$\Rightarrow \frac{y}{dx} = -\frac{y$$

Q5 (b) Solve the equation  $\cos x(1 + \cos y) dx - \sin y (1 + \sin x) dy = 0$ 

© iete

## Answer

A.S. b. We have, 
$$\cos \pi (1 + \cos y) dx - \sin y (1 + \sin \pi) dy = 0$$
  

$$\Rightarrow \frac{\cos \pi}{1 + \sin \pi} dn + \frac{\sin y}{1 + \cos y} dy = 0$$

$$\Rightarrow \int \frac{\cos \pi}{1 + \sin \pi} d\pi - \int \frac{-\sin y}{1 + \cos y} dy = 0 \quad [Integrating both & Sides]$$

$$\Rightarrow \log |1 + \sin \pi| + \log |1 + \cos y| = \log c 2$$

$$\Rightarrow \log \{|1 + \sin \pi| + 1 + \cos y| = \log c 2$$

$$\Rightarrow \log \{|1 + \sin \pi| + 1 + \cos y| = c 2$$

$$\Rightarrow |1 + \sin \pi| + 1 + \cos y| = c 2$$

Q6 (a) Prove that the coefficient of  $x^n$  is expansion of  $\left(\frac{1+x}{1-x}\right)^2$  is 4n

Answer

$$\begin{array}{l} & \mathcal{R}_{1} \in \mathcal{G} & \mathcal{R}_{1} & \mathcal{R}_{2} \\ \Rightarrow \left(\frac{1+n}{1-n}\right)^{2} = \frac{1+n}{1-n} + \frac{1+n}{1-n} + \frac{1+n}{1-n} + \frac{1+n}{1-n} \\ & \mathcal{R}_{1} & \mathcal{R}_{1} & \mathcal{R}_{1} & \mathcal{R}_{1} & \mathcal{R}_{1} \\ & \mathcal{R}_{2} & \mathcal{R}_{1} & \mathcal{R}_{1} & \mathcal{R}_{2} \\ & \mathcal{R}_{2} & \mathcal{R}_{1} & \mathcal{R}_{2} & \mathcal{R}_{2} \\ & \mathcal{R}_{2} & \mathcal{R}_{2} & \mathcal{R}_{1} & \mathcal{R}_{2} \\ & \mathcal{R}_{2} & \mathcal{R}_{2} & \mathcal{R}_{1} & \mathcal{R}_{2} \\ & \mathcal{R}_{2} & \mathcal{R}_{2} & \mathcal{R}_{1} \\ & \mathcal{R}_{2} & \mathcal{R}_{2} & \mathcal{R}_{2} \\ & \mathcal{R}_{2} & \mathcal{R}$$

Q6 (b) Let  $s_n$  denote the sum of the first n terms of an A.P. If  $s_{2n}=3s_n$  , then prove that  $\frac{s_{3n}}{s_n}=6$ 

b. det a he the first term and d-the common  
difference of the given A.P. Then,  
S2n = 3Sn  

$$2n [a + (2n - 1)d] = 3f n [a + (n - 1)d] 2$$

$$2 [a + (2n - 1)d] = 3[a(n - 1)d]$$

$$2 [a + (2n - 1)d] = 3[a(n - 1)d]$$

$$2 a - (3n - 3 - 4n + 2)d = 0$$

$$2 a - (3n - 3 - 4n + 2)d = 0$$

$$2 a - (n + 1)d - (f) 2$$
Now,  

$$\frac{S_{3n}}{Sn} = \frac{3n}{2} [2a + (3n - 1)d]$$

$$\frac{S_{3n}}{Sn} = \frac{3n}{2} [2a + (n - 1)d]$$

$$\frac{S_{3n}}{Sn} = \frac{3[(n + 1)d + (3n - 1)d]}{[(n + 1)d + (3n - 1)d]}$$

$$\frac{S_{3n}}{Sn} = \frac{12nd}{2nd} = 6$$
thence force 12

Q7 (a) If A, B, C are the angles of a triangle, then prove that,

sin2A + sin2B + sin2C = 4 sinA.sinB.sinC

11 Q.7.a. Som We have,  $\Delta HS = Sin 2A + Sin 2B + Sin 2C$ =  $2Sin\left(\frac{2A+2B}{2}\right) \cdot cos\left(\frac{2A-2B}{2}\right) + Sin 2C$  2 = 25m (A + B). COS(A-B) + Sm 2C = 2 Sm (n-c) . cos (A-B) + 2 Smc . cosc 2  $= 2 \sin((n-c)) \cdot \cos(n-B) + 2 \sin c \cdot \cos c$   $= 2 \sin c \cdot \cos(A-B) + 2 \sin c \cdot \cos c$   $= 2 \sin c \cdot \cos(A-B) + \cos c \cdot \frac{1}{2} + A+B+1 = 5 - \frac{1}{2} + B = 5 - \frac{1}{2} + B = 5 - \frac{1}{2} + B = 5 - \frac{1}{2} + \frac{1}{2} +$ = 2 Sinc (2 Sin A. Sin B) = 4 Sin A. Sin B. Sinc 2 = RHS. foover

Q7 (b) Prove that,  $\cos 20^{\circ} . \cos 60^{\circ} . \cos 40^{\circ} . \cos 80^{\circ} = \frac{1}{16}$ 

Answer

b. 
$$dHs = \cos 20^{\circ} \cdot \cos 40^{\circ} \cdot \cos 60^{\circ} \cdot \cos 80^{\circ}$$
  
 $= \frac{1}{2} \left( \cos 20^{\circ} \cdot \cos 40^{\circ} \cdot \cos 80^{\circ} \right) 2$   
 $= \frac{1}{2} \left( \cos 20^{\circ} \cdot \cos 20^{\circ} \cdot \cos 80^{\circ} \right) 2$   
 $= \frac{1}{2} \left( \cos 20^{\circ} \cdot \cos 20^{\circ} \cdot \cos 80^{\circ} \right) + \sin 80^{\circ} 2$   
 $= \frac{1}{2} \left( \frac{\sin 2^{3} A}{2^{3} \sin 4} \right) = \frac{1}{24} \cdot \frac{\sin 80^{\circ}}{\sin 4} 2$   
 $= \frac{1}{24} \cdot \frac{\sin 160^{\circ}}{\sin 20^{\circ}} = \frac{1}{24} \cdot \frac{\sin (180^{\circ} - 20)}{\sin 20^{\circ}} 2$   
 $= \frac{1}{24} \cdot \frac{\sin 20^{\circ}}{\sin 20^{\circ}} = \frac{1}{24} = \frac{1}{16} = RHs, 2$ 

Q8 (a) Find the equation of the two straight lines through (7, 9) and making an angle of 60° with the line  $x - \sqrt{3}y - 2\sqrt{3} = 0$ 

Q.8.a. Soln:  
We know that the equations of two stanget lines which possis  
through a point 
$$(x_1, y_1)$$
 and made a given angle  $\propto$  with the given  
shought line  $y = mn + c$  are,  
 $y - y_1 = \frac{m \pm tanx}{1 \mp m tanx} (x - x_1)$   
Here,  $x_1 = 7, y = 9 \ll c$  60° and  $m = (slope of the line
 $x - \sqrt{3}y - 2\sqrt{3} = 0) = \sqrt{3}$   
So, the eqni of the required lines are  $\frac{1}{3} - tan 60^{\circ}$   
 $y - 9 = \frac{\sqrt{3}}{1 - \sqrt{3}} tan 60^{\circ} (x - 7)$  and  $y - 9 = \frac{\sqrt{3}}{1 + \sqrt{3}} tan 60^{\circ}$   
Gr  $(y - 9) (1 - \sqrt{3} tan 60^{\circ}) = (\sqrt{3} + tan 60^{\circ}) (x - 7)$   
and  $(y - 7) (1 + \sqrt{3} tan 60^{\circ}) = (\sqrt{3} - tan 60^{\circ}) (x - 7)$   
 $y - 9 = (t_{12} + v_{13}) (x - 7) \Rightarrow x + \sqrt{3}y = 7 + 9\sqrt{3}$   
Hence, the required line are  $x = 7$  and  $x + \sqrt{3}y = 7 + 6$$ 

Q8 (b) Find the area of the triangle formed by the lines y = x, y = 2x and y = 3x + 4

Answer

Q.8.6. Som the given equations are,  

$$y = x$$
 (1),  $y = 2x$  (1) and  $y = 3x + 4$  (11)  
Suppose the equations (1), (11) and (111) represent the sides AB,  
BC, and CA respectively of a triangle ABC,  
Solving (1) and (11), we get:  $x = 0$  and  $y = 0$   
Huns, AB and BC intersect at B(010)  
Solving (11) and (111), we obtain:  $x = -4, y = -8$  2  
Huns, BC and CA intersect of  $C = (44, -8)$   
solving (111) and (111), we get, we get:  $x = -2$ , and  $y = -2$   
So, CA and AB intersect of  $A(-21, -2)$  2  
Huns, the vertices of the biangle ABC are;  
 $x (-2, 2)$ ,  $B(0, 0)$  and  $(-4, -8)$   
 $\therefore$  Area of  $ABC = \frac{1}{2} \begin{vmatrix} -2 & -2 & 1 \\ 0 & 0 & 1 \end{vmatrix} = 4$  Syrumits

Q9 (a) Find the equation of the circle passing through the point (1, -2) & (4, -3) and which has its centre on the strength line 3x + 4y = 7

8.9.9.  $x^2 + y^2 + 2gx + 2fy + c = 0$ Since it passes through (1,2) and (+4,-3)  $\therefore 5 + 2g - 4f + c = 0$  25 + 8g - 6f + (= 0Centre of the circle is (-8,-f) and it breson the Solving (ii) , (iii) and (iv) We get  $9 = -\frac{47}{15}$ ,  $7 = \frac{3}{5}$  and  $c = \frac{11}{3}$  2 ., The required equation of the circle in  $\chi^2 + y^2 - \frac{94}{15}\chi + \frac{6}{5}\chi + \frac{11}{3} = 0$ Ang. 2 (15)  $(\chi^2 + \chi^2) - 94\chi + 18\chi + 55 = 0$  Ang. 2 (iv) 2 3×+44=7

Q9 (b) Find the focus, vertex, axis, latus-rectum and directrix of the parabola  $x^2 + 4x + 2y = 0$ 

8.9.6. The equation of the period la is  

$$\chi^2 + 4\chi + 2\chi = 0$$
 or  $\chi^2 + 4\chi = -2\chi$   
Adding 4 on both sides,  
 $\chi^2 + 4\chi + 4 = -2\chi + 4$  or  $(\chi + 2)^2 = -2(\chi - 2) = 0$   
Chifting the origin to the point (-2, 2) is  
det  $\chi = \chi + 2$  and  $\chi = \chi - 2$  II  
then (i) becomes,  
 $\chi^2 = 2\chi$  or  $\chi^2 = -4 \cdot \frac{1}{2}\chi$  ( $\chi^2 = -4a\chi$ )  
comparing it with  $\chi^2 = -4a\chi$   
we have  $a = \frac{1}{2}$   
i. Focus is  $\chi = 0$ ,  $\chi = 2 - \frac{1}{2} = \frac{3}{2}$   
i. Focus is  $(-2, \frac{3}{2}) = Ans$ .  
Vertex is  $(-2, 2)$  or  $\chi + 2 = 0$ ,  $4 - 2 = -\frac{1}{2}$   
i. Vertex is  $(-2, 2)$  or  $\chi + 2 = 0$ ,  $4 - 2 = -\frac{1}{2}$   
i. Vertex is  $(-2, 2)$  or  $\chi + 2 = 0$ ,  $4 - 2 = -\frac{1}{2}$   
i. Vertex is  $(-2, 2) = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{3}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac{1}{2} = -\frac{1}{2} = -\frac{1}{2}$   
i. Vertex is  $(-2, 2) = -\frac{1}{2} = -\frac$ 

## Text Book

Applied Mathematics for Polytechnics H K Dass, 8<sup>th</sup> edition , CBS Publishes & Distributers.

A text book of comprehensive Mathematics class XI , parmanand Gupta , Laxmi Publishes (P) Ltd. New Delhi .

Engineering Mathematics ,H K Dass , S Chand & Company Ltd 13<sup>th</sup> edition , New Delhi.